
1. 	Eva luate t he given lilllits 
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2, (a) Sketch and Ii nel the 'U' ollnc ed by y = r.;; ,jy = x _ 2, ' ea of the plane region b I v". ",~. Md 
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(b) Find the shortest d ' IS tance f'10m t lC point (0 1) to the curve y x, I '2 = 2 

si'l"'tce 0:= Xl.. / dD~ ~ I:e 

uJrd-\e/1 &>', 

d i~~8rCe =d ex)= {" A ~ (x.L-iY-' 

-rc9 ~ -\- hz dei1-.o.k;ve . 

diCK)='- \ . (2Xt2.(XZ.--}) .1X) =' 

2 {,L '«'-101' \ x"" ~'8°" &d d".j, 

_) Jx +?'( ,,'-3 ) .J>." 0 0 ,ol "'j"l ~ d".Ii­t?) x=-:L =)Lr=l ~ d:- E­
)( /-21< _..) =-1.,) =))(,=0 v L2:Lx(L(2x _ 2.) ~o 5 .. ~-I,d c!t>~x" I 

z ><.=_\ IS @,/2 . 



x:1 

3 Let f (x ) = '3 - 2.r,2 - 5x. 

(a) 	Find t he domain, the x-intercept , the y- intcrcept and the asymptotes( if exist) 
of f. 
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(b) Filld Lhe interva ls of increaBe and decrease and the local extreme va lue(s) of f. 
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(c) Find the 	intervals where f is concave up and concave down , and inflect ion 

point (s). 

fC1<1 =- 2A -u == 0 rC~') ~~~_If--"-t---l) 
x= ? 2.. 

~ (.2 ') .:;-ilj 
\ S m{l6:.j.On p0'Yl-l 

(d) Sketch the graph of f. 
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4. Evaluatc the givclI illt egrals 
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